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AY=45 43 44 45 BE | IER
43 | -1 < K (KAISERS) 3 1 3
A4|BTH-AO (KESTA) @ 2 2
45|HR-HL GBY-FRY | @ | @D 1

BY—4 46 47 48 B | IER
46 [f8M-ILO (3 YEEELN) 0 | @ 2
47|tk B (HBY5D) @ @ 1
AR - ks (KESTA-EAN| 3 2 3

cy—=4 49 50 51 B | IEfz
49|EfE- kK (BEYTD) @ | @ 1
50 | 4t-1Ek (BEARER) 0 0 3
513 -HFE (X% 0| @ 2
B+

Al)—4 52 53 54 BB | B
52| F-FW (AT HBY) @ | 3 2
53 |iRFF B[R (teamly 1U}) 3 3 3
54| R KBA (EEW-77]| D) | @ 1

BY—4 55 56 57 BE | IER
55 |A 8 BEFH  (FAY-teamly ) 3 | @ 2
56| LH-AE (NJ) @ @ 1
57|=#-wIl (Wb&EY77) 2 0 3

cy—4 58 59 60 R | IER:
58 |AMA-H (H&EI77) 1 2 3
59 |FHAT-FH (teamlby 1Uh) @ 1 2
60 | A LB (—#8) @ | @ 1




